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1 Al #F X g = WMARE a &t M o

B % % & ke 497,600 148,900 21,500 668, 000 F x| B F
k= A& | R E
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WA 53,313] 10kg 1,944 171 1,404 1 864 || dimE fth
FEIZA LA 17,9101 10kg 3,456 — 2,538 || 1,620 || dimE b
ZIES 1,301 300g 76 76 16 ERE fth
H% 51,920] 15kg 1,998 || 1,431 1 864 1| R¥ fth
FrY 72,2401 10kg 1,048 — 740 — 432 - HE #
EFS5NAZED 2,038] 200g 119 | 108 1 97 1| ¥\ B fth
FhE 3,061 5kg 2,430 - 1,485 — 540 —| FI
AN 12, 591 5kg 1,728 || 1,242 | 756 —| WWE I e
b=k 16, 837 dkg 1,620 || 1,080 | 540 || & KE fh
EpoY 31,120 5kg 2,160 || 1,620 || 1,080 -] #&& &5
BAEA 27,9211 10kg 1,512 1 1,080 | 648 || dtimE fth
E—<> 7, 421 dkg 1,404 1,530 1,296 FH it
MAL & 15,675 5kg 2,268 1| 1,433 1 108 || Z&¥ fEXR b
Fhul & 50,4401 10kg 2,160 7| 1,404 1 648 —| dtimE b
LY 3,468] 10kg 4,320 || 3,132 || 1,944 1| ZER oE f#
EL g 8,000 10kg 3,780 7| 2,538 —| 1,296 || disE 4t
f-FEh&E 22,8301 10kg 2,266 1| 1,975 | 810 -] dtimE fth
La R 15,400] 10kg 2,592 - 1,944 || 1,29 || E% fh
ES=Yrbs 63| 500g 7,236 || 5,487 || 3,456 || #+E
LWV 2,440 200g 216 — 151 — 86 | S b
[ 8 % ]

HA 4,945 10kg 3,780 — 2,492 | 540 -] HEX b
2h5 31,9601 10kg 3,456 T 2,268 || 1,080 || &% ft
138 5 15,660] 10kg 3,456 || 2,969 || 2,160 || BE #HAH it
2K 19,105] 10kg 3,456 — 3,006 1 864 || =5 it
Ff-ra B 2,951 7.5kg 4,860 1| 2,970 7| 1,080 1] =R ft
Elg 6,147] 3.5kg 4,860 T| 4,050 T| 3,240 =] LE fib
EA—=x 4,968 5kg 6,480 17| 5,130 1| 3,780 —| W& MWL
LWs < 3,446 420g 291 270 162 AL b
BEAQY 1,950 8kg 14,040 || 5,966 T| 3,240 —| &I fth
<Y 1,351] 10kg 9,180 || 6,865 || 3,780 —| Z#H b
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